Translation: If you decide to do multiple translation trials always start from the
same initial location, write down the translation you plan to do, and then record the
new coordinates.
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initial location for each trial. Record the coordinates for the initial location for each

trial and the coordinates of the final location after the rotation. Be sure to rotate the

same way, clockwise, for each trial.
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Student Sample A

eﬂegtion If you decide to do multiple reflections you will need to select a new

“initial location for each trial. Record the coordinates for initial location for each trial
and the coordinates of the final location after the rotation.
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Challenae Questions: (/ /7/ G2 7. /€.
s What do you think would appen to the courdinatas if your reflection were
over the x-axis? ;
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« Would your rotation rule work if your Initial location were in any other
quadrant than the first quadrant? Why or why not?
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Summary Questions:
1. Bﬁgribe what changed for AABC during this activity.

//,, 5§ /7’?0/&/

2. Describe what stayed the same for AABC during this activity.
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3. Describe what you learned from this activity.
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